R : e et 3 gt 33 8 e wa o R g :

Direction : Answer the following questions by selecting the most appropriate bptfan. e

Rl - IV / PART = IV
/g / MATHEMATICS

[A]

e g g ee—m——— e e—— T

91. g cos(0 +¢) =mcos(0—¢), T 91. If  cos(D+¢)= m cos(0 —¢), - then
1-m . dore By I.
: e i
[Hm)ccttli T E [1+m jtltb_ 5 equal to
(1) tan© (1) tan©
(2) —tan0 (2) —tan®
(3) 2tan0 (3) 2tan®
(4) T 9§ g Tl (4) None of these : l
92. IS qﬁ‘ 3 ﬁ“ﬂ?ﬂ' g H, R’ P 92, In a geometric progression consisting of *
9T, I A 9@l B N P T(ET &, T positive terms, each term equals the sum -
B3 Tﬂ?ﬂ' e Hﬁﬁﬂﬂﬁﬂ £ of the next two terms. Then the common
ratio of this progression equals :
(1) sin1g  (2) 2'cos 18° (1) sin 18° @) 2 cos 18° I
(3) cos 18° ~(4) 2sin18° (3) cos18° (4) 2sin 18* =
' W Fd $ R TE/SPACE FOR ROUGH WORK |
|
Level-3/4318 P.T.0
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[A]

193, '@ 3 7 A, P R g A, B e C

P R wRem m 2i- 4k
{-3j-5k @o1 af -3j+k ¥ wwm

ﬁw%aﬁég,ﬁ'zc%,%; )

[24]

93.

The values of 'a', for whick the points

A, B, C with position vectors 2= j+k,

; ,F__?.j'-s.ff and af-—ﬂ}—kkﬂ respectively

are the vertices of right-angled triangle

with £C=-§, are :

1) —2qar—
1 =l (1) -2 and -1
(2) 2qur1 (2) 2and 1
(3) 21 (3) 2and-1
(4) 294911 (4) 2and 1

94. G=i+j, b=j+k WY ¢=xd+yb U 94, G=i+j, b=j+k and C=xa+yb. If
afsr i-2j+k, 3i+2j-k wO E i-2j+k, 3 +2j-k and & are
AT g"fr g = cnplaﬁar, then .

y Y
(1) -2 (1) -2
(2) -3 @ 3
(3) 273 (3) 2/3
@ -1 4) -1
Level-3/4318
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[25] [A]
9. IR THHTE Brst & SR & GHRT " 95. If vertex and base of an cquilatcral
rty=23an 9 @ 1)}, qa triangle be respectively (2, —1) and
x +y =2, then length of the side of this
SEEI N e B TR ©
N cquilateral triangle will be :
| 2 3
2 3 1 = I =
) \E ) ‘E (1) \(; @ \(;
1 5 1 e
(3) J; (4) \E (3) \E (f} J;
9. wg I A A K ¥, v ¥ 09 9, 96. An urn contains nine balls of which
g St qw & B0 B dW W oS three are red, four are blue and two are
X e iem - - -
CEE W w7 R o .“-;.h green, Three bal]s_are_ drawn at random
: 3 - 1 ok 7 A without replacement from the urn. The
il A probability that the three balls have
. S A % : different colour is :
1 2 1 2
1) — 2) — 1 2
M3 @3 OF @ 2
1 2
B) — 4 — 1 2
D Ay =
21 23 O~ 4 -
ﬂiﬁfﬁ%‘ﬁﬂﬁ WIB/SPACE FOR R
1
S o g
\ ’ . L d
.
il N ffc\
5 2
m
{51’\
74
Level-3/4318
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[26]

97. a=2i+j-k W b=j+k uRy & o7. G=2i+j—k and b =]j+k. Vector &'
HMUFR B 5 a.c =4 axc=4, is such that @.¢ =4 and axé=b, then
c= ¢15:

W) i+j-k @ 3i+j+k 1) i+j-k - @ H+j+k
GB) i+3j+k (4 2i-]-k 3) T+3j+k (@) 20-j-k

98. A WIFTT x’+axr+1=0 & Hgl & 98. If the difference between the roots of
IR 5 A, & '@ F e e the equation x> +ax+1=0 is less than
&l =9 B -Jg, then the set ﬂfpnssil‘b]e values of 'a’

is :
(1) (-3,3) @) (3,9) (1) (3,3) @) (3,
(3) (3, =) (4) (—o0,-3) (3) (3,=) 4) (—»,-3)

99. HFT AABC & 9 A(2, —3) @ B(-2, 1) 99. Let A(2,—3) and B(-2, 1) be vertices of
%1 3R B @ 3%, W@ 2 + 3y = | a AABC. If the centroid of this triangle
R A Far 8, a9 ol C & g o moves on the line 2x + 3y = 1, then the
_ﬁﬁ UH A @ e, AW R locus of the vertex C is the line :

(1) 2x+3y=9 (2 2x-3y=7 (1) x+3y=9 (2) 2x-3y=7
(3) 3x+2y=5 (4) 3x—2y=3 (3) 3x+2y=5 (4) 3x—2y=3
' = A{E ”
' N
5‘ I
Level-3/4318 y
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[A]

100. HFT P (1 0) #% fg & Tu R Q, 100. Let P be the point (1, 0) and Q a point
TWawd p* =8x UT o 1 PQ & "H on the parabola 2 =8x. The locus of
forg = fargue & : midpoint of PQ is :

(1) x2-4y+2=0 (1) x*>-4y+2=0
(2) x2+4y+2=0 2) x> +4y+2=0
(3) y*+4x+2=0 (3) y*+4x+2=0
4) y*-4x+2=0 @) y*-4x+2=0
101. Tt p? =4xa x2 =-32y @ wi 101. The slope of the line touching both the
A G 1@ FEv e parabolas y? =4x and x> =-32y is:
1 3 I 3
2 x e i 5
O @ 3 ) 2 @ 3
1 2 1 2
i3 = ;T e Ay =
(3}S {4)3 ().3 ()3 |
102. I W 1@ xk =y2 =23 ar 102. If the lines = 1!}»22:;33 and
z—1 2 - i
- 222 y 2 - 2 0 E‘.@ o x32=yk3=z ! intersect in a
Erﬁﬁ@'{ "“Hﬁﬁ g, @ TTT?E k @ A point, then the integral value of ks :
B
() -2 ) -5 (1 -2 2) -5
@) 5 4) 2 35 @) 2
6 F4 % T STE/SPACE FOR ROUGH WORK
Level-3/4318 ‘P.T.O
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103.

104.

105.

AR y=cos® x—6sinx cosx+3sin® x+2,

@ x F T aafad A B
(1) 4-J10<y<4+410

2) 2-410<y<2+410

B) 3-V5<y<4+5

(@) T q 1 T

ATz, w AN el 39 YER ¢
Z+iw=0 T arg(zw) = m, T arg(z)
F AN 8 °

T T
(1) i (2) 3

® = @ =

T 1 QBT X, X200 Xy T yHR ¥ R
}_‘.x,-z=40{) o Lx; =80, @ frr &

A ' BDA-TT A T 8 7

[28]

104.

105.

: e
103. If y=c052x~6sinx cosx +3sin” x+2,

then for all real x

1) 410 < y<a+10
2) 2-JT0<y<2+410
3) 3-5<ys4+5
(4) None of these

Let z, w be complex numbers such that
z+iw=0 and arg(zw) = T Then
arg(z) equals :

™ ‘@ =
m % @ 3

3n S5m
3) ? 4) T

Let X{, Xy, X, be'n' observations such

that Tx? =400 and Xx; =80. Then a

possible value of 'n' among the

following is :
(1) 12 2 9 (1 12 2) 9
(3) 18 4) 15 3 (3) 18 4) 15
Level-3/4318
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106.

107.

108.

() 197ER

U e IO AR & "uW 3 wéN H
200 TUY ST B 1 UAS Hor # R
TN @ ST 40 $9Y WUET S9nm g
HIeH ¥, 11,040 592 99 & fo0 3@
Y T

(2) 2077
(3) 21 WEm (4) 187
qrg el T A 4 qEl GERT 5.2 B
ot gF @ 9 deor 1, 2 awr 6 8, @

v Q&
(1) 5T (2) 8aH3
(3) 47917 4) 6aTuT4.

9= SMALL & aerll & man 3@, o

Fl A gl et (arefgel  ergar

M) F =HY F FER WA W
g% SMALL &l &9 & : :

106.

107.

108.

[A]

A man saves Rs, 200 in each of the first
three months of his service. In each of the
subsequent months, his saving increases by
Rs. 40 more than the saving of immediately
previous month. His total saving from the
start of service will be Rs, 11,040 after :

(1) 19 months
(3) 21 months

(2) 20 months
(4) 18 months
Mean and variance of five observations
are respectively 4 and 5.2. If three
observations among them are 1, 2 and 6,

then remaining two observations will be :

(1) 5and8 . (2) 8and3

(3) 4and 7 (4) 6and4

If -all the words (with or without
meaning) having five letters, formed
using the letters of the word SMALL
and arranged as in dictionary; then the
position of the word SMALL is :

(1) 46ar (2) 594t (1) 46th (2) 59th
(3) 524 (4) ssaf (3) 52nd (4) S8th
% #d % T SE/SPACE FOR ROUGH WORK .
¥ 3P
¥ e o
&p+(h4)m )(\-R'D "r')-‘ f/ ‘?‘G\
N x\qquo b
X "V
- A
\Ab'—lb ¢ ] ) /,1:?0 \
o ihe © :
z?;" y - oY R
, Q&> g
-4

P. T=_D.
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[A] [30]
109. TR SR 1+4x+7x% +10x° +...00, &I 109. If sum of the series |
35 ’ 1+4x+7x2+10x3 +...00, where |x| <1,
| <1, 1 3 = @, @ xH 5= 87 : 35
16 is —, thenx equals :
16
(1) 2/5 (1) 2/5
(2) 1755 (2) 1/5
(@) ¥ & B & .(4) None of these
'110. IR oo ~+2X+Z=1 Pvim omt 110. If plane %+§+§-1 intersects co-
2 3 B .
H HAM A, B @ C W Fed 3, @ ordinate axes in A, B and C
AABC &I 8=%d 8r : respectively, then area of AABC is :
1) Vi ) 30 (1) V18 @ 30
(3) 314 @) 13414 - (3) W4 4) 13414
10 :
111 x+1 i, 3 TER 111. The term independent of x in the
) 2/3 __1/3 _ L2 xd
x x'7+]l x-x . i o
FxY@TT /S - expansion of Lm 7 +1—x—x”2]
1s
(1) 4 (2) 120 (1) 4 (2) 120
(3) 210 4) 310 - (3) 210 4) 310
Level-3/4318
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[31] [A]
112. 3% 3, 5, 6, 7 @@ 8 3 I § Rl 112. The number c‘f integers greater than
6000 § =g Uit & de = # § 6000 that can be formed, using the
g, AR aft @ gvgfy A @ digits 3, 5, 6, 7 and 8, without -
repetition, is ;
1) 216 (2) 192 (1) 216 @) 192
() 120 4) 72 (3) 120 @ 72
113, T 0 <x <3, @ x & B9 91 H 113. If 0 < x < 3n, then the number of
e S gHEAT sec x + tan x = /3 & distinct values of x, which satisfy 'the
iR &, B equation sec x + tan x = +/3 is :
(1) 1 (2) 2 (D1 () 2
(3) 3 4) 4 (3) 3 “) 4
114, If% o% §dgq A, T0E & 9= 7l 6 114, In mn ::lhpse the distance between its
o WY 9 8 &), 79 I oFf foci is 6 and minor axis is 8. Then its
eccentricity is :
1 : 4
() 2 = 1 4
2 1) — 2) —
5 O & 3
® @ 2 ! 3
= = g o 4) =
N 5 ® % @ <
Level-3/4318
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[A]

115.

116.

117.

(-2, 0) @ (2, 0) w
P | Sebwar 2 B,

(1) -3x?+y% =3

@) x2-3y?=3

(@) 3x*=y? =3

4 -x?+3y% =3

R T xX=3 y+2 z+4
g , G

pPx+qy—-z=9 ﬁﬁmﬁ% ar p +q
H A BAT

(1) 26
G) 5

) 18
(4) 2

e x?+43y2=6 3 3x @ oI i

il wsar ©w d" W aeme @
EI?&‘TEI % .

(1) (x?
@ (x2-y?)

2
-yz) =6x2 Jr_Z_}J2

= 6x> ~Dyl

,
) P+ =6x242)7

2
4 (x2+y2) = 6x2 —2y2

115.

116.

117.

Foci of the hyperbola are (=2, 0) ap4
(2, 0). If its eccentricity is 2, then j

equation will be :

(1) -3x*+y* =3

(2 we=Jy" =
3) 3x? -y’ =
@) -x%+3y*=
- +2
e Ll W
.. 2 =1 3

contained in the plane px+qy-z=9
then the value of p* +q°
(1) 26 (2) 18
()5 4) 2

The locus of the foot of perpendiculﬁ:
drawn from the centre of the ellipse

x? +3y2 =6 on any tangent to it, is :
2

(1) -y =6x%+22
Z

@) (x*-y?) -

2
() (437 =6x2 12y2

=6x2—2y

2
@) (*+y%) =6x2-2)2

Level-3/4318
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[33] [A]

18. Wl y=x+2 Wawd y’ =8x A Wf- 118. The ecquation of a tangent to the
@ B WWW%%W ED] pa.raholay?'=8x is y =x + 2. The point
T Waey gt i 7 wafar o 5 @ on this line from which the other
R Y@ & FeEa A R, A tangent to this parabola is perpendicular

* 1o the given tangent is :
1) 1,1 2) (0,2 _
mELE  Bes MELD @ 02
() (2,4 (4) (-2,0) 3) @ 4) @) (2,0)

119. IR g9 Rl = (2, -1 &, 98 | 119. If 3x + y = 0 is a tangent to the circle
TR 3x Fgp=0) %, o g4l gd 90 0o with centre (2, —1), then the equation of
forg Boamwmef @ 2. another tangent to the same circle from

: origin is :
(1) x+3y=0 (1) x+3y=0
(2) 3x-y=0 (2} 3x-y=0
(3) x-3y=0 (3) x-3y=0
@ x+y=0 @) x+y=0

120. 3¢ 3@ 3x — 4y = m, T x2+yl= 120. If the line 3x — 4y = m intersects the
4x+8y+5 @ & B N W circle :r:1+y2 =4x+8y+5 in two
gferede o2, o distinct points, then :

(1) —85<m<-35 (1) -85 <m<-35
(2) 35<m<15 (2) -35<m<15
(3) 15<m<65 (3) 15<m<65
(4) 35<m<85 (4) 35<m<85
® f"gs Emmsp.aim: IEDR ROUGH WORK
*' 4
P.T.0O

Level-3/4318
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[A] [34]

Jouk x'i_’;“;“_m:{_zéx_z)} T Y 121. Jyzﬂ_ca:{_z;x—z)} is equal 1.
(1) V2 | 1) V2
@ -v2 @ -2
®) = - @) =
V2 V2
(4) Fremm w8 & - (4) does not exist

kdx+1, 0<x<3

mx+2, 3<x<5§

122, —qﬁ- f(xJ={kﬁx+l, D<x<3 ' 122. If f(x)={

mx+2, 3<x<5

S e é’f, at k+m @ |5 BT differentiable, then &k + m =
g o 1y 2
16 16
i | @
10
&3 ® 3
5 & - ) 4

T Eﬁlji% fiTT SB/SPACE FOR RO

Level-3/4318
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[35] [A]

312 '
d? d .
123. FaHA GHH [ﬁ] v%—fl:ﬂ 123. Order and degree of the differential
5 \3/2
P Fife T AT FHI: T | equation ay _‘/i_J’_A,:n are
: di? dx
respectively :
(1) 271 6
(1) 2and 6
2 Bl {2) 3and 6
(3) 174 - (3) 1and 4
(4) 2T 4 - (4) 2and 4
124. tan cos”! —--Z—J—E HAFE 124. Value of tan cns"[—gij-ﬂ} is:
' 71 2 3] 2
2 , g
1) —= (1) —=
B35 | 35
: 2
= v Yl
(2) (2) 3
1 1
3) —= : 0+,
3) = | | ( 5
4
4y —~
4) 5

Level-3/4318 ' P.T.0.
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[A]

125. Wﬁﬁﬂ?ﬂﬁﬂﬁﬁﬁaﬁwm

126.

iﬁ?x-ﬂ&iﬂﬁﬂﬁ%

() 2tei? pad
y x}’dr

dy
(2) x* = +3
.v -

d
3) y=x’+2pZ
@) ¥ xy

d
4 2::{2_..2 _y
4 y 'x.vz

x+1

qﬁ I{m} Tdx =e* f(.l)+£.‘,
ar - |
(1) fix)T% 89 el 2|

(2) flx) 9= Fe FE 2

(3) fix) 1 T [0, 1] B

(4) T q B T

[36]

125.

126.

The differential equation of all Circle
passing through the origin and having
their centres on the x-axis is :

; dy
2 e
(]) xz-_-y +xya{x

dy
s i %
(2) x“=y +3xydx

d

3) y2=x2+2"y%y‘
dy

= x? _ 2y
4) y'=x XV

(x“+1) :
then:

(.1) f(x) is an even function.

(2) flx)is not bounded.
(3) Range of f{x) is [0, 1].

(4) None of these

‘TG B & 1T STTE/SPACE FOR ROUGH WORK

Level-3/4318
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[37] [A]

. |1 n’ n? 1 1 2 2 1
127. lim|—+ + +ot+—|= A T TR T Tk
e n (n+1)) (n+2)° 7 e e n (nel)) (n+2)°  8n
3
3 i =
1) = 8
() g
1 @ 1
4 4
1 1
tad 3) =
®) W 5
1 1
W =
@ 3 “ 3
128. IR cos'x+cos”! _},+cgs"z=-ﬂ, ar 128. If cn$_1x+~cus_'y+ms_]z=n, then :
(1) x2+y2+z2+21y§¥1 (1) x2+y2+z1+21yz=l
) (sin'x+sin”' y+sin! z) = ) (sin”' x+sin" y+sin~' z)=
cos ! x4+ cos”! y+f:«t:ns"I z ; cos ! x+cos”! y+ cos™! z
(3) xy+yz+zx=x+y+z-1 (3) xy+yz-|l-zx='x+y+z—l
(4) [x+l]+[y+l]+{z+l] 26 _I_J >6
x Z Z

Level-3/4318
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[A]

130.

120. T (y-2)?=x-1, Ty 3 Rrg
(2, 3) T @it 7§ wshar wdt x-o7e7 ZAT
e & F Sy D
(1) 6
(2) 9
(3) 12
4) 3

1
dx z
JCDSB x-dsin,?xk gl

(1) JE(qutx+31-:an5*'2x)+c
) V2(+tanx +%tan5”x)+c
@) ﬁwtanx_%tanm_x)ﬂ

4) ﬁ(m+—;—tanx)+c |

[38]

129. The arca of the region bounded by th,

130.

parabola (y-2)2 = x—1, the tangent o
the parabola at the point (2, 3) and 1,

x-axis is :

(1) 6
2) 9
3) 12
4) 3
1 y '
dx isequal to:
'[c053 x+/sin2x 1

(1) ﬁ(v‘c&tx +%tan”2 x)+c

'(2) ﬁ(m+%tan5”x)+c

(3) V2(/tanx ~étan5” x)+c

(4) ﬁ(xftanx.-k%tanx) +c

Level-3/4318
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[39] [A]
131, IR A EI‘ETF B @ EIE?Iﬁ ™ UEN & fF 131. If A and B are two events such that
' A 1L 1 1 (A] 1
PA— PB—— T Pl | == P(A)==,P(B)==, P|—=|=—, then
=L p@=1 < (3]4 =2rm =3, A5 )=
GE] P(AﬁB) qu*r%": P(A N B)is equal to :
1 : 1 3
1) — 2) — 1) — 2) —
{} 12 {} 4 ___(_,) 12 (} 4
1 ' 3 1 3
% = 4 = 3§ = "
® @ = ) 3 @ —
132 IR 3% x=y" My =k TH-ZHL B 132. If the curves x = yZand xy = k intersect
I 9T Fed g, ar at right angle, then :
(1) 8k2.=3 2) 8k%=1 (1) 8k?=3 2) 8k%=1
() 8k*=5 @) 8k%=-1 (3) 8k*=5 4) 8k*=-1
T x )
133. T3 s Z—-dx EREL % 133. J 3 drx 1s equal to :
u” cos“ x+b"sin” x ﬂa cos® x+h%sin? x
2 2 2 2
n F1Y T T
i et g Iy = o
(}ab ()2fJ (1 s {]Eab
2 Ly 2 2
- T T n
- ) ;) P gy &
(]4ab ()Qa ® ab ()QGEJ
= x
Level-3/4318
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[A] [40]

134-Wfrrﬂifamew% @ s
=2x"coty—-1=0 g gfomfta &, ; defined by x

134. fct y be an implicit function of x
2x _ 9% coty—1=0. Then

T (1) TER A y(1) equals:
(1) -1 2) 1 (1 -1 @ 1
(3) log2 (4) -log 2 (3) log2 (4) —log2
135. f(x)=tan']{sinx+cosx) ﬂﬁ&]’r{ 55 135. f(x):tan"(sinx+cusx} is increasing
in:
e L N [l
m (4 :Jﬂ (2) ( 2,4)*" . (1) (?EJ @ ( 2,4}
' T > T
()(2) (4}[2,2ﬂ 2 28
vy
136. IR f(x)= { -1, 0<x<2 .- R 136. If f{x)={x -, 0<x<2 , then the
2x+3,2<x<3 ' 2x+3,2<x<3
feom wfleRer Brad g9 lim f(x) quadratic equation whose roots are
=2 lim f(x) and I:m Jlx)
G llm f(x) %: % . =27 x—2*

a2t
(1) x2-6x+9=0 (1) x*-6x+9=0

(2) xz—'?x+3:0 (2) xz—?x+8=(}

(3) x2-14x+49=0 (3) xX-14x+49=0

4) x*-10x+21=0 @ x*-10x+21=0

Level-3/4318
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[41] [A]
39.5, 4 A3 a2
137. J~3 2x5+x4—2x3+2x2+1dxw%: 137. J‘ 2x +Jc2 -2x 4+21 de i3 el
2 2+t - 2 (x*+)E"-D)
' to:
L . I 1
(1) 3 Dgﬁ"'g (1) +—(lng6+—]
2 5
1 1 1 1
) i i = -1
(2) +2[10g6 5) (2) +2[]ogﬁ SJ
1(, 1 1 1
. 2 3) —— =l
3) z[lagﬁ+5) (? 2[10g6+£)
i, 1 4 -1[19 6—1) E
@ -3z ) ~3(loe6 3 |
| [.
138, T A=E 3] T WER & % 138. If A=E 32:{ such that
A7 =k T k= AV kA then k=
1y 19 (1) 19
1 e §
Y X
(2) T 2) T
(3) -19 (3) -19
1 1
(4) 5 (4) -5 |
EI’& %ﬁa WTE’SF.ACi_E R ROUGH WORK =
S
1
- 4
Level-3/4318
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[A] [42] -

139. IR} x arElE & o 3x% +9x+17 T 139. If x is real, the maximum value of
' 2
il i 3x2 +9x+17 -
SRR A # 3x2+9x+7
(1) 41 @ 1 (1) 41 2) 1
17 ! e = @ 5
@ > @ 7 7 3
140. SWEFHA  GHIHLT %+;}'=;yz FT Ed 140. Solution of the differential r:qualionl
3. _ %tr_y:.xyz is:
1 '{3 1 -“f-
(1) ——=1+ce? (1) ——=1+ce?
Y ¥
o2 o2
(2). —=1+.‘.‘a‘3‘2 (2) ,_=|+“,2
Y y
1 2 2
(3) —=1-ce* (3) l=1—-:'aeJE
Y y
(4) T8 § ¢ 7d (4) None of these
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[43]

141, T g (1,2,3,4) R @Y R
yT g & B R = {(1, 1), (1, 2),
(2.2), (4,4, (1,3),3,3),3,2)}, 7@

(1) R ¥&ged a91 Game 8|
(2) R e a1 HHe ¢
(3) R WHMRG el e @ |

[A]

141. Let R is a relation defined in set {1, 2,
3, 4} such that R = {(1, 1), (1, 2), (2, 2),
(4,4), (1, 3), (3, 3), (3, 2)}, then ;

(1) R is reflexive and symmetric.
(2) R isreflexive and transitive.

(3) R is symmetric and transitive.

(4) REET F (4) R is symmetric.
6V H L (x+6YM
142. lim i.) & HE B : 142. The value of lim ) is o
x—reol X +1 e x+1
1) e ) & (1) e* 2) ¢
5 4 4 5
3) et 4) e () e (4) e
143. R={(x,)) x? + yz <] @ p*<l-x 143. The area of the region described by
2 AR B 1 A © R={(xy)*+y* <1 and y’ <1-x}is :
n 2 n 2 nt 2 T 2
v Pl s y .2 9 B2
G2 3 R 30 ) 773 &t
n 4 n 4 n 4 Tt 4
gy Tyl gy Do 3 Egs S O
(3) +3 (4) 273 (3) 3 (4) 273
- s ot 3 R SFTEISPACE FOR ROUGH WORK
S
2
- ”
Level-3/4318 SRR,
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[A] [44]

1 sin@ 1 1 sin0 1
144, 3R A=[-sin0 1  sin0| a4, If A=|-sin0 1 sin®l wher
-1 -sin@ 1 -1 ~smb® 1
0<0<2n,d9 : . 0<0<2m, then:
(1) detA=0 (1) detA=0
(2) detd e (2,0) - - (2) detA € (2, %)
(3) detd e (2,4) (3) detd € (2,4)
(4) detd e [2,4] = (4) detd € [2,4]
145, y=(x—l)2 3 g x = z_qr dfar T 145. A normal to y=(x-l)2 at x = 2 alsc
o e fReg @ i @it S passes through the point :
2
() ©,4) : : (1) (0,4
@ 0.0 | (2) (0,0)
@) @.0) 3) (4,0)
@ 1.2 | | @ (1,2)
f1T STE/SPACE FOR ROUGH WORK F |
2%
’ ,
Level-3/4318
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[45] [A]

1 :
1 y 146. dx is equal to :
146. — T q
I(x+s}?’5{x-3)9’3dx y I{x+51'”3{x-3j‘”“
' 1/8 N
M [?—;] - M ;_—:J -
1/8 PPNG
(2) [JH:] +c ] (2) \__x—-‘-t) +c
x_
1/8 - c45)/8 '
(3) _[x+ﬂ +c 3) ._[I":’U +c
x’—
s ' A
x+4 .,
o 2" 02"
147. k 3 99 # den e W Mes 147. The number of values of & for which the
FHFT dx+hky+2z=0; kx+dy+z=0 linear  equations  4x+ky+2z=0;
T 2x+2y+z=0 LA & @ g, fe +4y+2=0; T2 a0
3. : possess a non-zero solution is :
(1) 2 2
(2 1 2 1
(3) 94 (3) Zero
@ 3 @3
Level-3/4318 P.-T.-0.
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[A] WRal (E RO
' x2 41 Cf x2 )
148. fl:x)=5inhl[x2+2} H T % . 148. Rang‘:{}{f{x)smﬂ x2+2 15 ;
(0, n P @ [n, E]
o |0 2} @ [n,E) o [o 2] @ (0.2
(= = [z m 4) None of th
.[3) hﬁ'zj (4) 34 § F1g T 3) _6,2) (4) ese
. | 2 g ey, wo. | L g isequal o
O Xt +2) x|+ S %2 x|+
(1) log2 (2) 2log2 (1) log2 (2) 2log2
(3) %logz (4) 4log2 (3) %logz (4) 4log2
150. y?=8x W 3IH ﬁ‘lﬁ % FRen®, R 150. The point lying. on yz =8x and ata
x? +(_}J+¢5)2 =1 9 iﬁ AdH g, minimum distance from x2+{y+6)2 =]
an will be :
(1) (2,-4) 2) 2,4 1 2,49 (2) 2,4
@) (18,-12) 4 (5,8 3) (18,-12)  (4) (8,8)
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